RERILSEDOF AR (FRI0FEE)
CAF ALK (EE)
X4y 4 A 54 64 A 8 H 94 104 11H 12 15 24 3H &t
Fi FH F % (a) 724 706 758 744 619 667 750 725 667 618 672 750 8, 400
R (b) 1, 109 1,081 1, 251 1,172 1, 044 1,279 1, 231 1,322 1,114 966 1, 055 1,232 13,856
FiIH A% (c) 13,370| 13,385 15,418 15,516| 11,842 15,863 15,427 15,155 12,956 11,629 12,740 14,768| 168, 069
1 H ¥R A A (b)/(d) 27.8 27.2 29. 2 28.6 22.9 25.7 28.8 27.9 27.8 25.8 28.0 27.8 27.3
LHESFAEE  (©/d) 514. 2 514.8 593.0 596. 8 438. 6 610. 1 593. 3 582.9 539. 8 484. 5 530. 8 547.0 545. 7
AR = (b)/(d)/3/23 61.8 60. 3 69. 7 65.3 56. 0 71.3 68. 6 73.7 67.3 58.3 63.7 66. 1 65. 2
SRR =R (b)/(d)/3/17 83.6 81.5 94. 3 88. 4 75.8 96. 5 92.8 99. 7 91.0 78.9 86. 2 89.5 88. 2
BRAE 0 2Kk (d) 26 26 26 26 27 26 26 26 24 24 24 27 308
SRR R R =T = a BN H O L L TEREAEE LTEBAOFAR (SEELL B0, 18, 7, 248 - fi=17%)
¢ HAFIAA Bttt > 2 —%)
X453 4] 54 6 74 8 94 10 A 11H 12 11 2A 3H &t
TR R = 190 190 217 275 277 188 228 223 187 199 232 193 2,599
R EES 0 1 1 0 1 0 0 0 0 0 0 0 3
FEREEI1E 2= 236 241 320 268 288 282 325 300 281 268 285 297 3, 391
HRERFH 7 — 1 1,497 1, 380 1,528 1, 655 1,576 1,074 1,641 1,561 1, 365 1, 409 1,510 1,278 17,474
FEE 23 R SR 480 445 394 427 456 409 446 436 412 384 408 420 5,117
FER N IRE 434 405 360 384 419 377 409 407 394 362 376 397 4,724
FIRBENNE T —E R 357 338 366 350 356 346 345 332 324 311 326 337 4,088
T i 21 329 492 462 167 446 774 662 471 276 486 563 5, 149
ElnEH A LAMRE X — 70 61 70 60 63 66 63 75 42 48 55 59 732
FENNH R S o A — 707 638 660 609 752 611 724 713 613 638 576 552 7,843
EkY v B =5 S5 EF 3, 992 4,078 4, 408 4, 490 4, 355 3, 799 4, 955 4,709 4, 089 3, 895 4, 254 4,096 51,120
SREHE A 2 — 17,341 17,134 19,334 19,544 16,030 19,216 19,608 19,202 16,574| 15,248 16,508| 18, 301| 214, 040
B 2 17,341 34,475 53,809 73,353 89,383| 108,599 128,207| 147,409 163,983| 179,231| 195, 739| 214, 040| 214, 040
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